Mathematics – Algebra EOC

Curriculum Development and School Improvement- Secondary

MA.912.A.3.10 – Worksheet 1

Name:  ______________________________________ Date:  ____/____/____ Period:  _______


1. Line 
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 is perpendicular to line
[image: image2.wmf]b

.  Line 
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 has an equation
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.  What is the equation of line 
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if line 
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passes through the point
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2. Which of the following is an equation of a line that passes through points 
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3. What is the y-intercept of the line with an equation
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On the coordinate grid below, line 
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 is parallel to
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What is the slope of line
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5. What is the slope of a line perpendicular to a line with an equation
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